$$\frac{||eiture XVIII|:}{||termodes a classification of kinte groups}$$

$$\frac{||eiture XVIII:}{||termodes a classification of kinte groups}$$

$$\frac{||eiture XVIII:}{||termodes a classification of groups and estimate groups are for fease size a size in a set of the size of the size$$

Trivial intersection More precisely

$$G = \{ p : q \mid p \in P, q \in Q \}$$

proup operation $(pq)(p'q') = (pp')(qq')$ $(pq)' = q^{-1}p^{-1} = p^{-1}q^{-1}$
 $sp' = p'q$ by Lemma by Lemma

$$\begin{array}{c} \begin{array}{c} \mbox{Constraint} & G & \simeq \mbox{\mathbbmm} \ \mbox{\mathbbmm} \mbox$} \mbox{$\mathbbmm$}$$

Note in the second state of the second second state is a first place because
• # elements of reducts in
$$D_g = 5$$
 (s, sr, sr, sr, sr, r²)
• # ______ $Q_g = 1$ (-1).
Hencen, $E(D_g) \leq D_g$ and $E(Q_g) \leq Q_g$ satisfy
 $E(D_g) \simeq E(Q_g) \simeq Z_{22}^{\prime}$ and $D_{g/2}(D_g) \simeq Q_{g/2}(D_g) \simeq Z_{22}^{\prime} Z_{22}^{\prime}$.
This maps the ismorphism type of a p-quark used with the delemained by its
chain of adatively normal subgroups with abelian successive quotients seen in Proposition 810.2.
Note: If G is not abelian and has size 8, then $|E(G)| = 2$.
(Otherwise $|E(G)| = 4$ used say $G_{2(G)}$ is update (of order 2), hence G
would be election.)
but it see in a future declare that such a group is either isomriphic to D or Q_g.
File abelian mess are isomorphic to either $Z_{22} = Z_{22} \times Z_{32}^{\prime}$ for Z_{22}^{\prime} information Z_{22}^{\prime} with standard
Recall : $T_g = Z_{fZ}^{\prime}$ with usual + and - of Z performed modules p, a fixed
 I_{firm} .
Lemma : $G = GL_n(T_p)$ has reder $(p^{n-1})(p^n-p) \dots (p^n-p^{n-n})$
 \overline{Scont} : We count the perihitities for each element
 I_{firm} is for some (column 1, column 2) = $p^n - p_1 = p^{n-p^n}$
 $\overline{T_f}$ Signa (column 1, column 2) = $p^n - p_1 = p^{n-p^n}$
 $\overline{T_f}$ is $\overline{T_f}$ is $\overline{T_f}$ is $\overline{T_f}$ is $\overline{T_f}$ is $\overline{T_f}$ is $\overline{T_f}$.

$$= \int |G| = (p^{n}_{-1}) (p^{n}_{-p}) \cdots (p^{n}_{-p^{n-1}}) = p^{(1+\dots+n-1)} (p^{n-1}) (p^{n-1}_{-1}) \cdots (p^{2}_{-1})(p^{-1})$$
$$= p^{\frac{n(n+1)}{2}} (p^{n}_{-1}) (p^{n-1}_{-1}) \cdots (p^{2}_{-1}) (p^{2}_{-1})$$

=) The order of a Sylow p-subgroup is
$$P^{\frac{n(n+1)}{2}}$$
.

.

• Now $A \in Q_d \cap V$ from y=0 so $A = I_2$ ۵ 6

$$=> [SyRp (GL_{2}(F_{p}))] \ge p+1 ... (SQ_{n,k}: d \in F_{p} \{U3U\} \in Sylp (GL_{2}(F_{p})))$$

$$n_{p} \equiv 1 \mod p \qquad \text{and} \qquad n_{p} |(P^{2}_{-1})(P^{-1}) = (P^{1})(P^{-1})^{2}$$
To show $n_{p} = P^{+1}$, we need some cool back from Linnan Alpetra.
Lemma: $q_{p}(M_{n} [\begin{bmatrix} a & b \\ c & d \end{bmatrix}] = \begin{bmatrix} a & M_{n} \\ c & d \end{bmatrix} [\begin{bmatrix} c & d \\ 0 & -\frac{a}{2} \end{bmatrix}]$

$$\frac{Scof_{n}}{2} (Assume c \neq 0, then \Delta \neq 0 \text{ gives } b = ad - bc \neq 0.$$
 Thus,
where $[\begin{bmatrix} a & b \\ 0 & -\frac{a}{2} \end{bmatrix} = \begin{bmatrix} a & b \\ c & d \end{bmatrix} = \begin{bmatrix} a & b \\ c & -\frac{a}{2} \end{bmatrix} = \begin{bmatrix} a & b \\ -\frac{a}$

•

$$= \mathcal{H} \mathcal{T} \mathcal{H}^{-1} = A_{1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix}^{-1} A_{1}^{-1} = A_{1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} A_{1}^{-1} = \mathbf{A}_{2} \mathcal{T} A_{2}^{-1} = \mathbf{A}$$

$$= \left\{ \begin{bmatrix} 0 & 1 \\ 1 & 2 \end{bmatrix} = \begin{bmatrix} 1 & 0 \\ 2 & 1 \end{bmatrix} \\ \times \in \mathbb{N}_{P} \right\} = 0$$

$$\Rightarrow \Pi \nabla \Pi^{-1} = A, \forall' A_{1}^{-1} \qquad \text{with} \qquad A_{1} = \begin{bmatrix} a & b \\ 0 & d \end{bmatrix} \qquad ad \neq 0.$$

Need To check we can assume $a = d = 1$. If so, $A_{1} \forall' A_{1}^{-1} = Q_{d}$.

$$\frac{\text{Usim};}{(a & b)} \cup \left[\begin{bmatrix} a & b \\ 0 & d \end{bmatrix} \right]^{-1} = \left[\begin{bmatrix} 1 & \frac{1}{2} & \frac{1}{2} \end{bmatrix} \cup \left[\begin{bmatrix} 1 & \frac{1}{2} & \frac{1}{2} \end{bmatrix} \right]^{-1}$$

$$\begin{aligned} \Im f/ \begin{bmatrix} i & b' \\ 0 & i \end{bmatrix} \begin{bmatrix} i & 0 \\ y' & i \end{bmatrix} \begin{bmatrix} i & -b' \\ 0 & i \end{bmatrix} &= \begin{bmatrix} i+b'y' & -(b')^{2}y' \\ y' & i-b'y' \end{bmatrix} \\ \begin{bmatrix} a & b \\ 0 & d \end{bmatrix} \begin{bmatrix} i & 0 \\ y & i \end{bmatrix} & \pm \begin{bmatrix} d & -b \\ 0 & a \end{bmatrix} &= \pm \begin{bmatrix} a & b \\ 0 & d \end{bmatrix} \begin{bmatrix} i & 0 \\ y & i \end{bmatrix} \begin{bmatrix} d & -b \\ d^{2}y & d(a-by) \end{bmatrix} \\ &= \begin{bmatrix} i+b & a \\ d^{2}y & i-b \\ d^{2}y & i-b \\ d^{2}y \end{bmatrix} \\ \begin{bmatrix} i+b & A \\ a & d^{2} \end{bmatrix} \begin{bmatrix} i+b & A \\ a & d^{2} \end{bmatrix} \begin{bmatrix} i+b & A \\ a & d^{2} \end{bmatrix} \\ &= \begin{bmatrix} i+b & A \\ d^{2}y & i-b \\ d^{2}y \end{bmatrix} \\ \end{bmatrix} \\ But \frac{b & A \\ a & d^{2}} = \frac{b & A \\ a & d^{2}} = \frac{b}{d} \\ y' = \frac{d^{2}y}{d} \\ \end{bmatrix} \\ &= ue p s T_{p} be cause d, A \neq 0 \text{ are fixed.} \end{aligned}$$

 $\text{Indusin: Sylp}(GL_2(\mathbb{F}_p)) = 33 \text{US}^{-1} \text{geGL}_2(\mathbb{F}_p) \{ \leq 3 \text{U} \{ \cup \{ Q_{\mathcal{A}} | \mathcal{A} \in \mathbb{F}_p \} \}$